



Oscillation Of Higher-Order Half-Linear Dynamic Equations On Time Scales

Deniz Ucar^{1,*}, Veysel Fuat Hatipoglu²

¹Usak University, Faculty of Sciences and Arts, Department of Mathematics, 1 Eylul Campus, 64200, Usak, Turkey

²Mugla University, Faculty of Science, Department of Mathematics, Kotekli Campus, 48000, Mugla, Turkey

Abstract. In this paper we are concerned with the oscillation of solutions of higher-order half-linear dynamic equations of the form

$$\left(p(t) \left((x(t) + q(t)x(\tau(t)))^{\Delta^{m-1}} \right)^\alpha \right)^\Delta + r(t)x^\beta(\varphi(t)) = 0.$$

The main theorem improves some results for the corresponding higher-order difference and differential equations.

Keywords. Time scale, higher-order half-linear dynamic equation.

2000 MSC. Primary 34N05.

1. Introduction

The oscillation theory of delay differential and difference equations play an important role in many areas of mathematics such as technology, economics, mathematical biology. The theory of time scales unifies continuous and discrete analysis. Therefore the study of dynamic equations on time scales is an area of mathematics that recently has received a lot of attention. We refer the reader to book, by Bohner and Peterson [3] for a comprehensive treatment of the subject on the subject of time scale.

During the last few decades, there has been extensive improvement in the oscillation and nonoscillation theory of delay difference/differential/dynamic equations.

In the paper by Han, Sun, Zhang and Li [7], some new oscillation criterias for the second order nonlinear delay dynamic equation

$$\left(p(t) \left(x^\Delta(t) \right)^\gamma \right)^\Delta + q(t)f(x(\tau(t))) = 0$$

was established.

Grace et al. [6], studied the oscillation of nth order nonlinear dynamic equations of the form

$$x^{\Delta^n}(t) + q(t)(x^\sigma(\xi(t)))^\lambda = 0.$$

Grace [5], presented some new criterias for the oscillation of even order dynamic equation

$$\left(a(t) \left(x^{\Delta^{n-1}}(t) \right)^\alpha \right)^\Delta + q(t)(x(t))^\alpha = 0$$

on time scale under the condition $\int_{t_0}^\infty a^{-\frac{1}{\alpha}}(s) \Delta s = \infty$.

In this paper we study the oscillation of higher-order half-linear dynamic equations of the form

$$\left(p(t) \left((x(t) + q(t)x(\tau(t)))^{\Delta^{m-1}} \right)^\alpha \right)^\Delta + r(t)x^\beta(\varphi(t)) = 0, t \geq t_0 \tag{1}$$

Received January 9, 2019.

*Corresponding author (E-mail): deniz.ucar@usak.edu.tr

where we assume

$$\int_{t_0}^{\infty} p^{-\frac{1}{\alpha}}(t) \Delta t < \infty \quad (2)$$

without using $p^\Delta(t) > 0$.

Throughout this paper, we assume α, β are the ratio of odd positive integers, $\beta \leq \alpha$, $p(t) \in C_{rd}^1[t_0, \infty)_{\mathbb{T}}$, $p(t) > 0$, $q(t)$ is an oscillating function satisfying $\lim_{t \rightarrow \infty} q(t) = 0$, $r(t), \tau(t), \varphi(t) \in C_{rd}[t_0, \infty)_{\mathbb{T}}$, $r(t) > 0$ with $r^\Delta(t) > 0$ for $t \geq t_0$, $\tau(t) < t$ and $\lim_{t \rightarrow \infty} \tau(t) = \infty$, $\varphi(t) < t$ and $\lim_{t \rightarrow \infty} \varphi(t) = \infty$. We assume that the solution of Eq.(1) is the function $x(t) \in C_{rd}^{n-1}[T_x, \infty)_{\mathbb{T}}$, $T_x \geq t_0$. We consider those solutions $x(t)$ of Eq.(1) which satisfy $\sup\{|x(t)| : t \geq T\} > 0$ for all $T \geq T_x$. We assume the reader is familiar with the notation and basic results for dynamic equations on time scales. For a review of this topic we direct the reader to the monograph [3].

2. Main Results

We need the following lemmas in order to obtain our main results. The second one is the well-known Kiguradze's lemma.

Lemma 1. [3] Let u and v be continuous functions on $[a, b]$ that are Δ -differentiable on $[a, b)$. If u^Δ and v^Δ are integrable from a to b , then

$$\int_a^b u^\Delta(t) v(t) \Delta(t) + \int_a^b u^\sigma(t) v^\Delta(t) \Delta(t) = u(b)v(b) - u(a)v(a).$$

Lemma 2. [2] Let $x \in C_{rd}^m([t_0, \infty), \mathbb{R}^+)$. If $x^{\Delta^m}(t)$ is of constant sign on $[t_0, \infty)_{\mathbb{T}}$ and not identically zero on $[t_1, \infty)_{\mathbb{T}}$ for any $t_1 \geq t_0$, then there exists a $t_x \geq t_0$ and an integer l , $0 \leq l \leq m$ with $m+l$ even for $x^{\Delta^m}(t) \geq 0$, or $m+l$ odd for $x^{\Delta^m}(t) \leq 0$ such that

$$l > 0 \text{ implies } x^{\Delta^k}(t) > 0 \text{ for } t \geq t_x, k \in \{1, 2, \dots, l-1\}$$

and

$$l \leq m-1 \text{ implies } (-1)^{l+k} x^{\Delta^k}(t) > 0 \text{ for } t \geq t_x, k \in \{l, l+1, \dots, m-1\}.$$

Lemma 3. [8] Let f be n -times differentiable on \mathbb{T}^{k^n} . If $f^\Delta > 0$, then for every λ , $0 < \lambda < 1$, we have

$$f(t) \geq \lambda (-1)^{n-1} g_{n-1}(\sigma(T^*), t) f^{\Delta^{n-1}}(t).$$

Lemma 4. If the inequality

$$x^\Delta(t) + q(t)x^\beta(\tau(t)) \leq 0 \quad (3)$$

has an eventually positive (negative) solution, then the equation

$$x^\Delta(t) + q(t)x^\beta(\tau(t)) = 0$$

also has an eventually positive (negative) solution where q and β are as in Eq.(1).

Proof. Let $x(t)$ be an eventually positive solution of Eq.(3). One can easily see that $x^\Delta(t) < 0$ for all $t \geq t_0$ so that $x(t)$ is decreasing. Integrating the Eq.(3) from $t \geq t_0$ to $u \geq t$ and letting $u \rightarrow \infty$, we have

$$x(t) \geq \int_t^\infty q(s)x^\beta(\tau(s)) \Delta s.$$

Define

$$\Phi(t, x(\tau(t))) := \int_{t_0}^{\infty} q(s) x^{\beta}(\tau(s)) \Delta s - c$$

where $c = x(t_0)$. Now we show that the existence of a positive solution to the equation

$$y(t) = c + \Phi(t, y(\tau(t))) \text{ for } t \geq t_0.$$

In order to do this, we define the function sequence $\{y_k(t)\}$, $k = 0, 1, \dots$ such that

$$y_0(t) = x(t), \quad y_{k+1}(t) = c + \Phi(t, y_k(\tau(t))) \text{ for } t \geq t_0. \quad (4)$$

Then, one can easily see that $y_k(t)$ is well-defined and

$$0 \leq y_k(t) \leq x(t), \quad c \leq y_{k+1}(t) \leq y_k(t).$$

Thus, the sequence $\{y_k\}$ is positive and nonincreasing in k for $t \geq t_0$. So that we can define $y(t) = \lim_{k \rightarrow \infty} y_k(t)$.

Since $0 < y(t) \leq y_k(t) \leq x(t)$ for all $k \geq 0$ and

$$\Phi(t, y_k(\tau(t))) \leq \Phi(t, x(\tau(t))),$$

the convergence of $\{y_k(t)\}$ is uniform with respect to t . Then taking the limit of both sides of (4), we obtain

$$y(t) = c + \Phi(t, y(\tau(t))) \text{ for } t \geq t_0. \quad (5)$$

Finally taking the delta derivative of the Eq.(5), we have

$$y^{\Delta}(t) + q(t) y^{\beta}(\tau(t)) = 0.$$

Hence, Eq.(3) has a positive solution $x(t)$. This completes the proof. \blacksquare

For the sake of convenience, we define the function

$$z(t) := x(t) + q(t) x(\tau(t)). \quad (6)$$

Theorem 1. Let $m \geq 2$. Assume that (2) holds and for some constant $\lambda_0 \in (0, 1)$, the dynamic equation

$$y^{\Delta}(t) + r(t) \left(\frac{\lambda h_{m-1}(\varphi(t), \sigma(T^*))}{p^{\frac{1}{\alpha}}(\tau(t))} \right)^{\beta} y^{\frac{\beta}{\alpha}}(\varphi(t)) = 0 \quad (7)$$

is oscillatory. If

$$\limsup_{t \rightarrow \infty} \int_{t_2}^t \left[M^{\beta-\alpha} r(s) \lambda^{\beta} \delta^{\alpha}(s) h_{m-2}^{\beta}(\tau(s), \sigma(T^*)) + \frac{(\delta^{\alpha})^{\Delta}(s)}{\delta^{\alpha}(s)} \right] \Delta s = \infty \quad (8)$$

holds for every constant $M > 0$ where

$$\delta(t) := \int_t^{\infty} p^{-\frac{1}{\alpha}}(s) \Delta s,$$

then every solutions of Eq.(1) is oscillatory or tends to zero.

Proof. Assume that Eq.(1) has a bounded non-oscillatory solution $x(t)$. Without loss of generality, we

assume that $x(t)$ is eventually positive (the proof is similar in the case $x(t)$ is eventually negative). Moreover suppose that $\lim_{t \rightarrow \infty} x(t) \neq 0$.

Using Eq.(1) and (6), we have

$$\left(p(t) \left(z^{\Delta^{m-1}}(t) \right)^\alpha \right)^\Delta = -r(t) x^\beta(\varphi(t)) \leq 0, \quad t \geq t_1. \quad (9)$$

Since we assume that $x(t)$ is bounded and $\lim_{t \rightarrow \infty} x(t) \neq 0$, we have $\lim_{t \rightarrow \infty} q(t)x(\tau(t)) = 0$. Then there is a $t_2 \geq t_1$ such that $z(t) = x(t) + q(t)x(\tau(t)) > 0$ eventually. So that $z(t)$ is also bounded for sufficiently large $t \geq t_2$.

Using lemma 2, we can see that there exist two possible cases:

$$1) \ z(t) > 0, \ z^{\Delta^{m-1}}(t) > 0, \ z^{\Delta^m}(t) < 0, \ \text{and} \ \left(p(t) \left(z^{\Delta^{m-1}}(t) \right)^\alpha \right)^\Delta < 0,$$

$$2) \ z(t) > 0, \ z^{\Delta^{m-2}}(t) > 0, \ z^{\Delta^{m-1}}(t) < 0, \ \text{and} \ \left(p(t) \left(z^{\Delta^{m-1}}(t) \right)^\alpha \right)^\Delta < 0,$$

for all $t \geq t_2$, t_2 is large enough. By using (6), there exists a $t_3 \geq t_2$, t_2 is large enough. So that we obtain

$$x(t) = z(t) - q(t)x(\tau(t)) \geq \frac{1}{2}z(t) > 0$$

for all $t \geq t_3$. Since $x(\varphi(t)) > 0$, we have

$$x(\varphi(t)) \geq \frac{1}{2}z(\varphi(t)) > 0. \quad (10)$$

In view of (9) and (10), we obtain

$$\left(p(t) \left(z^{\Delta^{m-1}}(t) \right)^\alpha \right)^\Delta + \frac{1}{2}r(t)z^\beta(\varphi(t)) \leq 0$$

for $t \geq t_3$. Assume that case (1) holds. From lemma 3, we have

$$x(t) \geq \frac{\lambda h_{m-1}(t, \sigma(T^*)) x^{\Delta^{m-1}}(t) p^{\frac{1}{\alpha}}(t)}{p^{\frac{1}{\alpha}}(t)}$$

for every $\lambda \in (0, 1)$ and for all sufficiently large t . Hence by Eq.(1), we see that

$$y(t) := p(t) \left(z^{\Delta^{m-1}}(t) \right)^\alpha$$

is a positive solution of the difference inequality

$$y^\Delta(t) + \frac{1}{2}r(t) \left(\frac{\lambda h_{m-1}(\varphi(t), \sigma(T^*))}{p^{\frac{1}{\alpha}}(\tau(t))} \right)^\beta y^{\frac{\beta}{\alpha}}(\varphi(t)) \leq 0, \quad t \geq t_5.$$

Therefore by lemma 4, Eq.(7) also has a positive solution. This is a contradiction.

Assume that case (2) holds. Define the Riccati substitution

$$w(t) := \frac{p(t) \left(z^{\Delta^{m-1}}(t) \right)^\alpha}{\left(z^{\Delta^{m-2}}(t) \right)^\alpha}, \quad t \geq t_1. \quad (11)$$

From the case (2), we get $w(t) < 0$ for $t \geq t_1$. Since $p(t) \left(z^{\Delta^{m-1}}(t) \right)^\alpha$ is decreasing, we have

$$p^{\frac{1}{\alpha}}(s) z^{\Delta^{m-1}}(s) \leq p^{\frac{1}{\alpha}}(t) z^{\Delta^{m-1}}(t), \quad s \geq t \geq t_1.$$

Dividing the above inequality by $p^{\frac{1}{\alpha}}(s)$ and integrating it from t to l ,

$$\int_t^l z^{\Delta^{m-1}}(s) \Delta s \leq \int_t^l \frac{p^{\frac{1}{\alpha}}(t) z^{\Delta^{m-1}}(t)}{p^{\frac{1}{\alpha}}(s)} \Delta s$$

we obtain

$$z^{\Delta^{m-2}}(l) \leq z^{\Delta^{m-2}}(t) + p^{\frac{1}{\alpha}}(t) z^{\Delta^{m-1}}(t) \int_t^l \frac{1}{p^{\frac{1}{\alpha}}(s)} \Delta s.$$

Letting $l \rightarrow \infty$, we get

$$0 \leq z^{\Delta^{m-2}}(t) + p^{\frac{1}{\alpha}}(t) z^{\Delta^{m-1}}(t) \delta(t),$$

which yields

$$-\frac{p^{\frac{1}{\alpha}}(t) z^{\Delta^{m-1}}(t)}{z^{\Delta^{m-2}}(t)} \delta(t) \leq 1.$$

Thus, by (11) we can see that

$$-w(t) \delta^\alpha(t) \leq 1. \quad (12)$$

From (11), we have

$$w^\Delta(t) = \frac{\left(p(t) \left(z^{\Delta^{m-1}}(t) \right)^\alpha \right)^\Delta}{\left(z^{\Delta^{m-2}}(\sigma(t)) \right)^\alpha} - \frac{p(t) \left(z^{\Delta^{m-1}}(t) \right)^\alpha}{\left(z^{\Delta^{m-2}}(t) \right)^\alpha \mu(t)} + \frac{p(t) \left(z^{\Delta^{m-1}}(t) \right)^\alpha}{\left(z^{\Delta^{m-2}}(\sigma(t)) \right)^\alpha \mu(t)}.$$

Multiplying the last term of the above equation by $\frac{\left(z^{\Delta^{m-2}}(t) \right)^\alpha}{\left(z^{\Delta^{m-2}}(t) \right)^\alpha}$, we get

$$w^\Delta(t) = \frac{\left(p(t) \left(z^{\Delta^{m-1}}(t) \right)^\alpha \right)^\Delta}{\left(z^{\Delta^{m-2}}(\sigma(t)) \right)^\alpha} - \frac{w(t)}{\mu(t)} + \frac{w(t) \left(z^{\Delta^{m-2}}(t) \right)^\alpha}{\left(z^{\Delta^{m-2}}(\sigma(t)) \right)^\alpha \mu(t)}. \quad (13)$$

From the case (2), since $z^{\Delta^{m-2}}(t) > 0$ and $z^{\Delta^{m-1}}(t) < 0$, $z^{\Delta^{m-2}}(t)$ is decreasing. Therefore $z^{\Delta^{m-2}}(t) \geq z^{\Delta^{m-2}}(\sigma(t)) > 0$. Hence, we have

$$\frac{w(t) \left(z^{\Delta^{m-2}}(t) \right)^\alpha}{\left(z^{\Delta^{m-2}}(\sigma(t)) \right)^\alpha \mu(t)} \leq \frac{w(t)}{\mu(t)}$$

for all $t \geq t_1$. Using inequality (10), (13) becomes

$$w^\Delta(t) \leq -\frac{1}{2} r(t) \frac{z^\beta(\varphi(t))}{\left(z^{\Delta^{m-2}}(t) \right)^\alpha}.$$

In view of lemma 3, we get

$$x(t) \geq \lambda h_{m-2}(t, \sigma(T^*)) x^{\Delta^{m-2}}(t)$$

for every $\lambda \in (0, 1)$ and for all sufficiently large t . We can easily see that

$$z(\varphi(t)) \geq \lambda h_{m-2}(\varphi(t), \sigma(T^*)) z^{\Delta^{m-2}}(\varphi(t)).$$

Then there exists a constant $M > 0$ such that

$$\begin{aligned} w^\Delta(t) &\leq -\frac{1}{2}r(t) \frac{\lambda^\beta h_{m-2}^\beta(\varphi(t), \sigma(T^*)) \left(z^{\Delta_{m-2}}(\varphi(t))\right)^\beta}{\left(z^{\Delta_{m-2}}(t)\right)^\alpha} \\ &\leq -\frac{1}{2}r(t) \lambda^\beta h_{m-2}^\beta(\varphi(t), \sigma(T^*)) M^{\beta-\alpha} \end{aligned}$$

for $t \geq t_1$. Multiplying the above inequality by $\delta^\alpha(t)$ and integrating it from t_2 to t , we obtain

$$\begin{aligned} \frac{1}{2} \int_{t_2}^t M^{\beta-\alpha} r(s) \lambda^\beta \delta^\alpha(s) h_{m-2}^\beta(\varphi(s), \sigma(T^*)) \Delta s &\leq \delta^\alpha(t_2) w(t_2) - \delta^\alpha(t) w(t) \\ &\quad + \int_{t_2}^t (\delta^\alpha)^\Delta(s) w(\sigma(s)) \Delta s. \end{aligned}$$

Using (12), we have

$$\int_{t_2}^t \left[M^{\beta-\alpha} r(s) \lambda^\beta \delta^\alpha(s) h_{m-2}^\beta(\varphi(s), \sigma(T^*)) + \frac{(\delta^\alpha)^\Delta(s)}{\delta^\alpha(s)} \right] \Delta s \leq \delta^\alpha(t_2) w(t_2) + 1.$$

From (11) and the fact that $(\delta^\alpha)^\Delta(s) < 0$ we arrive at a contradiction. This completes the proof. \blacksquare

Corollary 1. Let $m \geq 2$ and $\int_{t_0}^\infty p^{-\frac{1}{\alpha}}(t) \Delta t < \infty$. Moreover assume that $\alpha > \beta$, is strictly increasing function,

$$\limsup_{t \rightarrow \infty} \int_{\varphi(t)}^t r(s) \frac{h_{m-1}^\beta(\varphi^{m-1}(s), \sigma(T^*))}{p^{\frac{\beta}{\alpha}}(\varphi(s))} \Delta s > 0.$$

If (8) holds for some constant $\lambda_1 \in (0, 1)$ and for all constant $M > 0$, then every solution of Eq.(1) is oscillatory or tends to zero.

3. Conclusion

In this paper, we have studied higher-order half-linear dynamic equation of the form Eq.(1). To the best of author's observation, the results regarding second, fourth and higher order equations have been established under the assumptions, $p^\Delta(t) > 0$, $\int_{t_0}^\infty p^{-\frac{1}{\alpha}}(t) \Delta t = \infty$ and $\alpha = \beta$. In this note we have not used these assumptions and we have obtained new results on time scales. The main theorem improves previously results and this presents a new approach.

References

- [1] R.P. Agarwal, E. Akin and S. Sun, Oscillation criteria for fourth-order nonlinear dynamic equations, Communications on Applied Nonlinear Analysis 18 (2011).
- [2] R.P. Agarwal, M. Bohner, Basic calculus on time scales and some of its applications, Results Math. 35 (1999), 3-22.
- [3] Bohner, M., Peterson, A., Dynamic Equations on Time Scales, An Introduction With Applications, Birkhauser, Boston, 2001.
- [4] Y. Bolat, J.O. Alzabut, On the oscillation of higher-order half-linear delay difference equations, Applied Mathematics & Information Sciences, 6 (2012), 423-427.
- [5] S. R. Grace, On the oscillation of higher-order dynamic equations, J. of Advanced Research, 4 (2013), 201-204.
- [6] S. R. Grace, R. P. Agarwal and A. Zafer, Oscillation of higher order nonlinear dynamic equations on time scales, Advances in Difference Equations, (2012), 67.

- [7] Z. Han, S. Sun, C. Zhang and T. Li, Oscillation criteria of second-order nonlinear delay dynamic equations on time scales, *Proceedings of the 8th world congress on intelligent control and automation (2010)*, 5762-5766.
- [8] D. Uçar, Y. Bolat, Oscillatory behaviour of a higher order dynamic equation, *Journal of Inequalities and Applications*, 2013:52 (2013).
- [9] C. Zhang, T. Li, B. Sun and E. Thandapani, On the oscillation of higher-order half-linear delay differential equations, *Applied Math. Letters* 24 (2011), 1618-1621.